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Question Number : 1 Question Id : 61097514429 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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31 .
If Azr and A~-kA-47, =0 then k=

1 4]
Options :

1. 1

2.

3.

4. £

Ans : no correct option

Question Number : 2 Question Id : 61097514430 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

i 2
tA={—-2 0 =
| —1 a

Options :

10
2. :
3 -
a4

15 a skew-synmetric matrix . then x 1%

-

]
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Question Number : 3 Question Id : 61097514431 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a=b+c=0. one root of

Options :

g

Lﬂ

b

=k

&

H—x

ol

b

ol

=1 15

Question Number : 4 Question Id : 61097514432 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The co-factors of the elements 2.-3 1n the matrix (

Options :

1 16. 3
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Question Number : 5 Question Id : 61097514433 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solution of a system of linear equations 2x-y+3z=9 . x—v+z=0. x-3

Options :

¢, X=—ly=-2z=-3
5 x=—-ly=—-2z2=23
3 X = =L oares dire =5

Question Number : 6 Question Id : 61097514434 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2x+4 S 3,

I

et

; 3 y : ]
(=1 (x=1) (x=1)

Options :

e Then » S, is equal to
(X —L) =

-

]
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4.5,

18,

Question Number : 7 Question Id : 61097514435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

3% 2] _ Ax+ B N :C'.‘:;—D

It : - -
3 xTy] gy sl ]

then k =

Options :

1. 0

Question Number : 8 Question Id : 61097514436 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If «in780% «in480% coe1 20%11330%=): then Lk is
Options :

0
1.
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Question Number : 9 Question Id : 61097514437 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

It ABCD are the angles of  cyclic quadrmlateral taken 1 order. then

cosA—cosBcosC+eosD=

Options :
1. U
2. :
5, =
4 "

Question Number : 10 Question Id : 61097514438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

' l—sm 6
If tn@=—then l——=
3 V1+si &

Options :
I8
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5 B
-1
5 3
-
3
4.

Question Number : 11 Question Id : 61097514439 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The period of the function ﬂ::{_}:|5‘j11 _‘r." 15

Options :

Question Number : 12 Question Id : 61097514440 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

L ]

-

= 0 n L
The value of tanl” tan2¥ tanlY. ... ... ... ... tan89Y 1s

Options :

|
1.
)
A C
-1
3.
4.

Question Number : 13 Question Id : 61097514441 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Rl Bl “ 1 1 " N
It t{x)=cosx+sec~x then 1ts value always 15

Options :

f(x)=1
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Question Number : 14 Question Id : 61097514442 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

! . 4 ; y - 11
| __lcosx+cosy | [smx+smy |

It 115 odd. then | — . + : =
| smxy—smy ) | cosx—cos) )

Options :

1. -1
1
2.
()
3.
4.

Question Number : 15 Question Id : 61097514443 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The value of Tﬁ11'1{_1_}+ Tan‘lli_ﬁ } 1%

Options :

A
1. &
7, °
3. =

gcollegeduniaa

]



Question Number : 16 Question Id : 61097514444 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1

The trigonometric equation sm™ x=2s11"" a . has a solution for

Options :

]

‘t‘.’| < —
i
.
‘{T == —
F
2. V-
1 1
—rl ﬂ‘| ——
oy [
o Mmoo
3.
1
o] = —
i
V=
4.,

Question Number : 17 Question Id : 61097514445 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T

-

The solution set of the system of equations ¥+ 1y =—and cosx+cosy=—1Is

[ | L

b
-
9

Options :

1.
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I _}.'-"' |
{RT + LH=12.5:~.......[
3
]
2
| o7
| -
I ——it =123 |
| 3 |
3.
()
“3

Question Number : 18 Question Id : 61097514446 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

if z= - then zM* s

Options:

-

B

Question Number : 19 Question Id : 61097514447 Question Type : MCQ Display Question

gcollegeduniaa

]



Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Y . . . .
Pt L2n+l) termsas

Options :

1.

Question Number : 20 Question Id : 61097514448 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

= & ', = . i ‘:I " = 5 "
The equation of the polar of (-2.3) with respect to x"+y -4x-6y—3=0 15

Options :

1. Y
2. x+y=0
3 x=l

4 Y0
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Question Number : 21 Question Id : 61097514449 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A parabolic are has a height of 12m and a span ot 20m. The height of the arc. Sm away

on either side of the centre 1%

Options:

.
2m

1.

5 am

3 (G111

4 0111

Question Number : 22 Question Id : 61097514450 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The eccentricaty of the ellipse whose latus-rectum 15 one third of 1ts nunor axis 1s

Options :

5
w
-1 J
[~
|—
‘_
3
s
2
=y 'l.'_|
PR Y
3, 3
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Question Number : 23 Question Id : 61097514451 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

=
2 o
A conic with ceCenirIcily - 1%

Options :

Parabola
1.

Ellipse

hyperbola

Question Number : 24 Question Id : 61097514452 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- - . B r, = "
The focus of the parabola (v-1)-=8(x-3) 15

Options :

i (4.2
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Question Number : 25 Question Id : 61097514453 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . § 1 R
The tangents drawn from the poimt P(-2.19] to the parabola y=8x are perpendicular to

cach other. Then the pomt P lies on the parabola at
Options :

1 Tangenta the vertex

directnx

2.

latus-rectum
3.

diameter through the tocus
4.

Question Number : 26 Question Id : 61097514454 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

'\_rr

jp

Lt

| is
A =1 _

Options :

1. Y
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2

3 =
le

4.

Question Number : 27 Question Id : 61097514455 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

-~ 5 1 {?:-1
It x=ylogxy then ——=
dx
Options :
X—y
1+ log xy
1.
R
(1+log xv)
X+ 3
x(l+log xv)
3
X+ ¥
xlog v
4,

Question Number : 28 Question Id : 61097514456 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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I flx)=

L+ M
Options:

1. 0

. XE€R then f(0)

Question Number : 29 Question Id : 61097514457 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

TP ) |
It yv=(x ) then — =
X

Options :

xa (1+ 2log v)

(1+ 2log 1‘}1""1"*'1"

2.

(1+2bgx)x"

s (l—=2logx)

Question Number : 30 Question Id

: 61097514458 Question Type : MCQ Display Question

-

]
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. o dx T
It x=¢’'cosdtthen — ar t=—13
dt” 2

Options :

. 6o
7 1.2¢"
i e
3.
—Ge”
4.

Question Number : 31 Question Id : 61097514459 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The maximum area of a rectangle with perumeter 176cm 15
Options :

1

1 1936¢cm-

G B
lsxdem”

2.
.
2110¢cm-

3.
1735em"

4.,

-

]
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Question Number : 32 Question Id : 61097514460 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Two positive numbers whose sum 15 64 and sum of whose cubes 15 nunimum are @iven by

Options :

32.3
iy S=ie

- p—

5 48.16

3 40.24

32024

Question Number : 33 Question Id : 61097514461 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

! il

B . . . cu ¢
It u be a homogeneous function of degree . then y—+v—==

ax” oV

Options :

111
1,
Cl
}—
cY
2.
-
(11 —1) —
X
3.
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| o cu
H {._Ij’ = l_,! ——
CX

Ans : no correct option

Question Number : 34 Question Id : 61097514462 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

It u=t{x-v. v-z. z-x) then —+—+—1is

Options :
i, =
7 -3
3. "

()
4,

Question Number : 35 Question Id : 61097514463 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A stong 15 dropped mto a quite lake and waves move m a circle at a speed of Gom sec. At
the mstant when the radius of the circular wave 18 16em . the enclosed ares mcreases at

the rate
Options :

100 T om™ - sec

gcollegeduniaa

]



192 7 cm o sec
3.

192 7 om™ o sec

Question Number : 36 Question Id : 61097514464 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

dx
" l4+sm x+cosy
Options :
;-' _"[- ".i '.
log| tan] — | |+¢
1 =i \ o ,-1 -

rl-' ,". -1_ .'._ 'x_
logl l+tan‘ — ‘ ‘—{—C

2.
1. | Cx )
—1Dg| 1+ tan| — |+ c
il = | ™ |
3 = : -
[ x]
log| 14+sec] — | |+¢
= 1[ - ] .
4. L

Question Number : 37 Question Id : 61097514465 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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I . .
clog(1+ )

ax

5 &

Options:

)

15

Question Number : 38 Question Id : 61097514466 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

f Ej‘!. o 1

v +1

dx =

Options :

log{e*-1)+c

g 2logle™1)ax+e

o
log(e-*~1)+¢

2log(e*+1)+¢

-

]
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Question Number : 39 Question Id : 61097514467 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mean value of the ordinate ot a senu circle of radius ¢ taken along the diameter 15

Options :

a.T

"I

it T

Question Number : 40 Question Id : 61097514468 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The area enclosed by the curve M +M =115

Options :
1.

2. ¢

3.
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Question Number : 41 Question Id : 61097514469 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

b

l J(x)dx represents

L

Options :

The area bounded by the curve and the x-axis
1.

The area bounded by the curve and the ordinares x=a. x=b

2

The area bounded by the curve. the x-axis and the ordinates x=a.x=b
3.
4 The area not bounded by the curve

Question Number : 42 Question Id : 61097514470 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

-

j%ﬁl M dy g

Options :

()
1.
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Question Number : 43 Question Id : 61097514471 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Mean value of

— on |-11] is
1+ x- | |

Options :

(]

1.
i
2. -
5
e
4.

Question Number : 44 Question Id : 61097514472 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
gcollegeduniaa
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’ - . : dy 3
The order and degree of the ditferential equation v = 17 T IS
dx dv

dv

Options:

[.1

[
-

Question Number : 45 Question Id : 61097514473 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T
G S . v
The ditterential equation 3-'? + X = g represents
av

Options:

a <ot of circles whose centers are on the x-axis
a set of circles whose centers are on the v-axis
2,

5 aset of parabolas

4 @setot ellipses

L ]
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Question Number : 46 Question Id : 61097514474 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

—

A 127

Solution of —

Options :

nalenn Rl
ST XTSI V=C

1.

sin"tx-sinty=c

sinhx+sinhty=c

3

1

: e
fan "X—Tsm "y=¢

4,

+ ——=10
dv V1—x"

Question Number : 47 Question Id : 61097514475 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: . e - T
Particular solution ot (D--D-2)y=1n2x 13

Options :

cos 2y —3sm 2x

-

]
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SOl X

| B

Xeul Oy

Question Number : 48 Question Id : 61097514476 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

; : & e 3 s L i I . 1
The mtegrating tactor of vi{xy—2x"v" )dx+xixy-x"y") =0 15

Options:

1
513T5
1.
i
3
2. v
1
.11
3.
3
T
b
4.,

Question Number : 49 Question Id : 61097514477 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. A Ty . s . | ;
It v=Ae*Be where A and B are arbitrary constants, then the ditferential equation 1s

gcollegeduniaa
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Options :

1, Fa+31+iy=0

Question Number : 50 Question Id : 61097514478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- i - :
The length of the sub normal at any point on y"=4ax 13

Options :
a
(R
a
2.~
a
3.
2a
4.

Physics

gcollegeduniaa
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Section Number : 2

Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25

Section Marks : 25

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? . Yes

Question Number : 51 Question Id : 61097514479 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The dimensional tormula for magnetic tlux is

Options :

: [T =4

o ML

5 [ML-T~A~]

4 [MIL-TA-]

Question Number : 52 Question Id : 61097514480 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The unit for angular frequency s

Options :

1. Hertz

gcollegeduniaa

]



2 N'i"."\'tﬂ."]l

3 Degrees (or) radians per second

4. Steradian

Question Number : 53 Question Id : 61097514481 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The s of two vectors A and B 13 at right angles to thewr difference. Then

Options :
1. A=8

7. A=2B
3. B=2A

4. A and B have the same direction

Question Number : 54 Question Id : 61097514482 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The resultant of two forces. one double the other in magnitude. 18 perpendicular to the
smaller of the two torces. The angle between the two torces 15

Options :

2D
1. 120

5 600

gcollegeduniaa
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Question Number : 55 Question Id : 61097514483 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body starts trom rest travels a distance X m first two seconds and a distance v in next

two seconds, The relation between x and y 15

Options :

1. e

2
V= 3K

5.

g, HER

Question Number : 56 Question Id : 61097514484 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two bodies are projected from the ground with the same speed. If the angles of their

\ . - - _,"! . . - . \
projection from the ground are 45° and 139 respectively. the ratio of their ranges is
Options :

T

gcollegeduniaa
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Question Number : 57 Question Id : 61097514485 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two bodies of ditferent masses are dropped from heights of 2 m and § m respecuvely.

then the ratio of the nme taken by then 13

Options :

Question Number : 58 Question Id : 61097514486 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle of projection of a projecule for wiuch the horizontal range and maxamum
height are equal 15
Options :

i _‘|__ .
Stan (<]

1.

gcollegeduniaa
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5 tan” (4)

cos(4)

3.

tan’ 8)

Question Number : 59 Question Id : 61097514487 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

It wi 18 the coetticient of kmetie triction. w16 the coettictent of rollmg friction and uz1s

the coetfictent of static friction. then

Options :

Us = g = Wy
1.

Ly <% g = Uy
2.

N L
3,

e = Ly " WL
4,

Question Number : 60 Question Id : 61097514488 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A boy of mass 40 kg 15 chimbing a vertical pole ar a constant speed. If the coetheient of
triction between his palnis and the pole 15 0.8 and g = 10 m s~, the horizontal force that he

15 applying on the pole 15

Question Number : 61 Question Id : 61097514489 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many 2.5 kg bricks can a man carry up a 3.6 meter staircase 1 one hour 11 he works

at an average rate of 9.8 watt?

Options :

U0

f

3 A
2 RASIY

GO0

4. 400

Question Number : 62 Question Id : 61097514490 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A spring of force constant 800 N m™ has an extension of 5 em. The work done in

extending 1t trom 5 em to 15 cm 15

Options :

4. 2417

Question Number : 63 Question Id : 61097514491 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Among the following sources of energv. for which source. sun 15 not a chief source of

energy

Options :

Hydroelectric power plant

5 Ocean thermal energy

Tidal energy

4 Biomass
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Question Number : 64 Question Id : 61097514492 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A particle executes simple harmonte motion along a stratght hine so that 11s penod 15 1.2 seconds .

The time it takes i traversing a distance equal to half of 1ts amplitude from its equilibrium posttion 15

Options:

1 & seconds

5 4 seconds

Y ¢ -~
2 geconds
3.

4 1 second

Question Number : 65 Question Id : 61097514493 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle executes sunple harmonie monon with a frequency £ The frequency with

which the potential energy oscillates 15

Options :

4, £eI0
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Question Number : 66 Question Id : 61097514494 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A g tork A of frequency 312 Hz produces 4 beats per second when sounded with a
tunimg tork B. Due to tiling of the prongs of the tuning tork B. the number of the beats

per second becomes 6, The actual frequency of B is
Options :
1. 16 Hz

508 Hz

312 Hz

4. 300 Hz

Question Number : 67 Question Id : 61097514495 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A car sounding a horn of trequency 1000 Hz passes an observer. The ratio of trequencies
ot the horn noted by the observer betore and after passing of car 1s 11: 9. It the speed ot

sound 1s v. then the speed of the car 13

Options :

,I By 1 ':]
5 w2
3 % :

gcollegeduniaa
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Question Number : 68 Question Id : 61097514496 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The reverberation nme 15
Options :

Directly proportional to sound absorption
o Inversely proportional to volume

3 Inversely proportional to sound absorption

4 Durectly proportional to pressure

Question Number : 69 Question Id : 61097514497 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The pressure Pr and density di of a diatomie gas (v =7 5) change to P2 and d> during an

d2 5

adiabatic operation. It . then 51 1

Options :

;125
5 128
g, ==

-

]
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Question Number : 70 Question Id : 61097514498 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The first law of thermodyvnamics 1s concerned with conservation of

Options:

1 No. of molecules

> No. of moles
3 Enerov

—_

4. Temperature

Question Number : 71 Question Id : 61097514499 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When ice cube melts into water.
Options :

a5 e 5 eI - R 2 s i SRy
1 Entropy decreases and mnternal energy decreases
5 Entropy decreases and mternal energy mereases

3 Entropy mereases and mternal energy mereases

4 Entropy increases and mternal energy decreases
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Question Number : 72 Question Id : 61097514500 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For nitrogen. Cp-Cy = x and for argon. Cp-Cy = v, The relation between x and v 15

Options :
1. XY
g, %=1
3. 7= o
4. X=ye

Question Number : 73 Question Id : 61097514501 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Carnot's engine extracts 1.5 x 107 kilocalories of heat from a reservoir at 627°C and

exhausts it to a sink maintained at 27°C. The work performed by the engine 15
Options :

4727
1. 4.2
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Question Number : 74 Question Id : 61097514502 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At critical angle. the angle of refraction 15

Options :
1. 45°

5, 90°
.y
3 1580

4 60°

Question Number : 75 Question Id : 61097514503 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Superconductivity 18 due to the formation of

Options :

1. Domam walls
5 Electron-hole pawrs

Hysteresis

3.

4 Cooper pairs
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Chemistry

Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25

Section Marks : 75

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes

Question Number : 76 Question Id : 61097514504 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The atonue weight and atomic number of an element are A and Z respectively,
The number of neutrons m the atom of that element 1s,

Options :

1 A

Question Number : 77 Question Id : 61097514505 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

gcollegeduniaa
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The two electrons present 1n an orbital are distnguished by

Options :

1 Principal Quantum number

5 Spin Quantum number

3 Magnetie Quantum number

4. Azmiutal Quantum number

Question Number : 78 Question Id : 61097514506 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The order of increasing energies of the orbitals follows:
Options :

T o D Pe3e

Question Number : 79 Question Id : 61097514507 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Tonic bond 1s formed by

Options :

-

]
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1. Sharmg of electrons
2 Donating of electron
3. Transter of Electrons

4. Donating of electron paiwr

Question Number : 80 Question Id : 61097514508 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The total number of electrons that take part m formme bonds m N> 15

Options :

Question Number : 81 Question Id : 61097514509 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Sum of mole tractions of the two components of a solution 15 aliways

Options :

1 more than one
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9 less than one
3 cxactly one

not fixed

4.

Question Number : 82 Question Id : 61097514510 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 10N Solution stands for
Options :

1. Normal solution

9 Decanormal solution
3 Decmormal solution

4 Seminormal solution

Question Number : 83 Question Id : 61097514511 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molarity of pure water 15

Options :

55.0
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Question Number : 84 Question Id : 61097514512 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

According to Bronsted —Lowry theorv which one of the following 15
considered as an acid?

Options :

1 OH"

2. HSCh

Question Number : 85 Question Id : 61097514513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The pH of a solution containing 10°° HC1 is

Options :

1.7

§)
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Question Number : 86 Question Id : 61097514514 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the quantity of electricaty that will be requared for liberating 710g ot

chlorme gas by the electrolysis of a concentrated solution of NaCl.
Options :

10 faradys

5 20 faradays

S taradays

4. 18 taradays

Question Number : 87 Question Id : 61097514515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The standard reduction potentials (E%)for the half reactions are as oiven below

Zo= Lo+ 3¢ BY=40. 76V

Fe=Fe'™ + 2e: EY==041V

The EMF for the cell reaction Feo™ -~ Zn — Zn~ = Fe 15

Options :
il -0.35V
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, +0.35V

Question Number : 88 Question Id : 61097514516 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The best electronic conductor 15

Options :

Copper

1

7 Aluminium
3 Z1ne

4. Silver

Question Number : 89 Question Id : 61097514517 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electric charge for electrode deposition of one gram equivalent of a

substance 1s
Options :

1 Charge on one mele of electrons

5 One ampere per second
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3 96500 coulombs per second

4 One ampere for one hour

Question Number : 90 Question Id : 61097514518 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Hardness of wwater 15 expressed m terms of ------- equivalents

Options :

1 MgCO3

5 LAt
= NaxCO;

4 K2CO;

Question Number : 91 Question Id : 61097514519 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the tollowing 15 a powertul dicintectant?

Options :

1. O3

2. Cl
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Question Number : 92 Question Id : 61097514520 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The process of killing pathogenic bacteria m water 15 called

Options :

1 Softening
5 Osmosis
3. Steritlhizanon

4 Reverse osmosis

Question Number : 93 Question Id : 61097514521 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The metal oxide film that can easily undergo corrosion 1s

Options :

1. Stable

) Porous
3 Valatile

A Unsrtable
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Question Number : 94 Question Id : 61097514522 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In galvanised articles. which metal protects the base metal?

Options :
1. Fe

2 Cu

3. £1

Pl

Question Number : 95 Question Id : 61097514523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 15 thermosetting plasnc?
Options :

—
1' L I". (_

o Bakelre
3 Polystyrene

4 Tetlon
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Question Number : 96 Question Id : 61097514524 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Natural rubber 15 a polymer of:
Options :

1. Isoprene
5 Ethylene
3. vinyl chloride

i Styrene

Question Number : 97 Question Id : 61097514525 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ebonite 1s a

Options :

PVC
1.

> Synthetic rubber
3 Highly vulcanised rubber

Polvstvrene

4.

Question Number : 98 Question Id : 61097514526 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The coal having the highest ranking 15

Options :

1 Anthracite
2 Peat
3. Ligmite

4 Bituminous

Question Number : 99 Question Id : 61097514527 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following causes Minamata disease

Options :

1. Argan
> Sulphur
3 Mercury

4 Nitrogen

Question Number : 100 Question Id ;: 61097514528 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 15 not a green house gas?
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Options :

1 Carbon dioxide
5 Methane gas
3 Water vapour

4. Nitrogen gas

Mechanical Engineering

Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? . Yes

Question Number : 101 Question Id : 61097514529 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The type of file used for a wood work 1n carpentry 1s:

Options :

1 Rasp file

5 Pillar file
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Rat-tail file
3.

4 Diamond file.

Question Number : 102 Question Id : 61097514530 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Halt round file vsed 1 firng, normally has cut teeth on curved surtace and aut teeth on flar surtace.

Options :
1 Single. Single

5 Single. Double

Double. Smgle

4 Double. double

Question Number : 103 Question Id ;: 61097514531 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which ot the tollowmeg vice 15 used tor holding round section metal tubes:

Options :

1 Plain paralle] vice

) Swivel parallel vice
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3 Hand vice

Pipe vice

Question Number : 104 Question Id : 61097514532 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The operation of cutting-otf a ilat sheet to the desired shape 15 called:
Options :

Punching
Notchmg
ankimg

3 Blank ng

Lancing.

Question Number : 105 Question Id : 61097514533 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which one ot the followme mstrument 15 a comparator”

Options :

Tool maker’s nucro scope
1.

GO NOGO gauge
2,
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Optical Interterometer

Dial cauge
g, ot e

Question Number ;: 106 Question Id ;: 61097514534 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The spindle speed range 1 a general purpose lathe 15 divided mto steps which approxumately tollow:

Options :

Arithmetic Progression

Geometnie Progression

2.

Harmonic Progression

Loganthmie Progression

Question Number : 107 Question Id : 61097514535 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s not a part of Shaper:

Options :
1. Ram

Table
2.
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Knee

Cross slide
4.

Question Number : 108 Question Id : 61097514536 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The aneflmng operanion i wbuch tivo sl cuters are mounted on the arbor o that v taces of a workpieoe are machmed simuhaneously i called:

Options:

1 Gang nulling
Climb nulling

Square nmilling
S

Straddle milling.
4,

Question Number : 109 Question Id ;: 61097514537 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mdexing of the turret in a single spindle automatie lathe 15 done. by using:

Options :

1 Geneva mechanism

Whit worth mechanism
2,
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Rack and pinion mechanism
5,

Ratchet and pawl mechanism
4,

Question Number : 110 Question Id ;: 61097514538 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In whuch of the follovmg surface frsshing operatons. the tool relatrve movement t5 generally 3 combinanon of reetprozaton and rotary motion

Options :
; Lapping
Honmg

Electro plating

arindimg

Question Number : 111 Question Id : 61097514539 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
With reference to the CNC part-program: code GO3 refers to:
Options :

1 Circular mnterpolation — clockwise duection

, Circular interpolation — counter clockwise direction
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Linear mterpolation

3.

4. Retardation

Question Number : 112 Question Id : 61097514540 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The configurarton of a Robot using & telescopie armn that can be tased or [owered on a honizontal pivot monnsed on a rotating base. 5 called:

Options :

Polar

; 8
Cartesian coordmated
Cvlindrical

3.

4 Jomted arna.

Question Number : 113 Question Id ;: 61097514541 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cellular manufacturing 1s suitable for:

Options :

A smgle production in large volumes

5 One-off production of several vaneties
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Producton with similar features made 1 batches

Large vartety of products m large volumes.

4.

Question Number : 114 Question Id : 61097514542 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
For welding mild steel. wwhich of the tollowing are weldimg 15 most surtable:
Options :

1. AC straight polanty

5 DC straight polarity

3 AC reverse polarity

DC reverse polarity

Question Number : 115 Question Id : 61097514543 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The oxy-acetvlene gas used m gas welding produces a flame temperature of;

Options :

, 1800°C

2100 °C
2y =

2400 °C
23
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Question Number : 116 Question Id : 61097514544 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For gas welding the pressure desired at the welding torch for acetylene 15 :

Options :

: 7to 103 kN m-”

70 t0 280 KN m-
5 280 to 560 kN m”

4 560710 840 kN n-

Question Number : 117 Question Id ;: 61097514545 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation ; Vertical

Alange sized punch s used to expand the hole to the deswed size and shape after the punching, during foraing process is called:

Options :

Biclk 1ron

1.

5 Fuller

3 Flatter
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Dnrt
4,

Question Number : 118 Question Id : 61097514546 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In forging operation. tullering 1s done to;

Options :

Draw out the material

1.

Bend the material

2

3 Upset the material

4 Estiude the matenal

Question Number : 119 Question Id : 61097514547 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

All patterns are given a slight taper on all vertical surfaces. This taper 1s known as;

Options :

Distortion allowance

1.

™

Dratt allowance

Shrimmkage allowance

3.

-

]
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Machumng allowance

Question Number : 120 Question Id : 61097514548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The property of the sand which allows the gasses and steam to escape through the sand mould 15 termed as;

Options :

: Refractoriness

> Cohesiveness
Permeability

4 Adhestveness

Question Number : 121 Question Id : 61097514549 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The most commonly and widely used binder. while preparing the moulding sand 1s:

Options:

Dextrin

2 Kaolmite

Limonite
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Bentonite
A4,

Question Number : 122 Question Id ;: 61097514550 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When the molren metal fails to reach all the sections of the mould, resulimg 1n an meomplete castmg this defeet i knows as:

Options :

Misrun
Cold shut
Hot tears

Scabs

Question Number : 123 Question Id : 61097514551 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Durng weldimg process, a proove & formed w the parent metal at the roe of a weld pass ve.. along the sade of the weld bed . This weld defeat 15 called

Options :

Distortion

5 Porosity

Snatter
3 ~F el
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Indercu
i Undercnt

Question Number : 124 Question Id : 61097514552 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The section lines or hatehing lmes are degwn at to the horizontal line in sectional view of a machine part

Options:

Question Number : 125 Question Id : 61097514553 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In a nut. the angle of chamter with respect to the base of the nut 15
Options :

15"

1
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Question Number : 126 Question Id : 61097514554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Allowance i limaits and fits refer to:

Options:

: Maximum clearance betiveen the shatft and hole

Nintmum clearance between the shatt and hole
2

P

Difference betiwween the maximum and munimumn size ot hole

Ditference between the maximum and minimum size of shatt

Question Number : 127 Question Id : 61097514555 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . . . " t0.02S . .
When the dimension 1s expressed as 20 —2025  nun. then the tolerance 15!

Options :

1 0,035 mm

0.025 mm
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0.060 mm
3.

0.010 mm
4,

Question Number : 128 Question Id : 61097514556 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The property of a material to resist tracture due to unpact load 15 known as;

Options :

Toughness
Stiffness
2

Hardness
3.

Plasticity

4,

Question Number : 129 Question Id : 61097514557 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Percentage of carbon m low carbon steels 1s:

Options:

(0.1t00.13) %
1.

(0,16 1o 0.8) %
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(0.81 to 1.5) %%

More than 1.5%

Question Number : 130 Question Id : 61097514558 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Blast furnace 15 used to produce:

Options :
; Cast Iron

Wrought Iron

2,

Pig Iron

3.

Steel

Question Number : 131 Question Id : 61097514559 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Corrosion resistance of steel 18 mcreased by adding:

Options :

Chromim
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Nickel

Alunminum
3.

Tungsten
4.

Question Number : 132 Question Id : 61097514560 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Heat treatment process used for castings 1s:
Options :

Tempering
1.

Annealing

5 Normalizing

Hardening

Question Number : 133 Question Id : 61097514561 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Bronze 15 an alloy of:
Options :

; Copper and Zme
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) Copper and Nickel

Copper and Tm

Copper and Lead
4,

Question Number : 134 Question Id : 61097514562 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The torees. which meet at one point and their lines of action also Lie on the same plane. are known as;

Options:

Coplanar concurrent forces

Coplanar non-concurrent torces

Non-coplanar concurrent forces
3.,

4 Non-coplanar non-concurrent forces

Question Number : 135 Question Id ;: 61097514563 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The resultant of two forees P and Q acting at an angle 6 15:

Options:

0 JPZ+ Q*+2PQ sinéd
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, JP2+ Q2+ 2P Qcosb

JP2+ Q2 —2PQ sing
3,

] VPE+ QP —2PQcosé

Question Number : 136 Question Id : 61097514564 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The ratio of lateral stram to hinear stramn 18 known as:

Options :

1 Modulus ot ngidity
Modulus of elasticity

Elastic lumnait

3.

Poisson’s ratio

4,

Question Number : 137 Question Id : 61097514565 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The point of contratlexure hies where the:

Options :
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Shear toree changes s1gn

1.

Bending moment changes sign

2,

Shear force 15 maxmium
3.

Bending monient 15 maxunum
4,

Question Number : 138 Question Id ;: 61097514566 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When o bar of length L and of wnrdorm erosessecional area 4 is subyeeted o a gradually appled foad B, then the straw evergy stored m a bar s

(Take E=Moduhus o7 Elasrserty

Options :

P L

AE
1.

Pz
) 2AFE

PZL
3 AE

P

2AF
4.

Question Number : 139 Question Id ;: 61097514567 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
It E=Modulus of Elasticity and I = Moment of Inertia of a bean. then the tlexural ngicity of a beam 1:

Options :
1 El

Question Number : 140 Question Id : 61097514568 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Tva flar belt dreve T and To ae the tenstons on g side aud slack side sespeetrvaly: 55 the angle of contacr and s the coethesent of oo of belt

. Tk
and polley: then the rato o

Options :
e
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Question Number : 141 Question Id : 61097514569 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

It o = s of the belt kg per vt lengrh and T=Masioma tension 1w the belr. then for the masimun porver transinission, e velooiy of the belt

Options :
T
T, ¥
T
\."'ﬁ
2.
T
v am
2
T
vadm
4,

Ans : no correct option

Question Number : 142 Question Id : 61097514570 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A bolt of M 24 x 2 means that the

Options :

Pitch of the thread 15 24 mum and depth 15 2 mm
1.

' - 5 |
Cross — sectional area of the thread 1 24 mm-

Nomunal diameter 15 24 nun and piteh 13 2 nun

3.

4 Root diameter 15 24 nun and piteh 15 2 mm
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Question Number : 143 Question Id : 61097514571 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The difference bereen the tooth space and the tooth thickness as measured on the piteh eircle 15 called:

Options :

Workmg depth

1.

Clearance
23

Addendum
3.

Backlash.
4.

Question Number : 144 Question Id ;: 61097514572 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The usual proportion for the width of kev 1s: (d 1s the diameter of the shaft)

Options :
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Question Number : 145 Question Id : 61097514573 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a tlange coupling. the bolts are subjected to:
Options :

Shear stress

1.

Compressive stress
Tensile stress

A Bending stress

Question Number : 146 Question Id ;: 61097514574 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A thin evhnder 1s subgeeted to an mternal pressure, then the ratio of curcumterential stress to longituchnal stress

Options :
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Question Number : 147 Question Id : 61097514575 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In a helseal compression spring. 1f d = diameter of the spring wire and D = spring col diameter then the rario D d 15 called:
Options :

1 Spring rate

Spring constant
Spring index

Wahl's factor.

Question Number : 148 Question Id ;: 61097514576 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The powt on the cam with maximum pressure angle 15 known as:

Options :

1 Cam center

Pitch pomt

3 Irace pount
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Prime poumt.

Question Number : 149 Question Id : 61097514577 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

I the mean sadius of a rim trpe flywhecl is hafved. shen s stored enerevis ot the onginal hywheel atthe same speed.

Options :

One — fourth

Halr

Same as

Tawvo fimnes
A4,

Question Number : 150 Question Id ;: 61097514578 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If the ball masses ot a governor have same speed for all radn of rotation. then it 15 said to be
Options :

Sensitive

1.

Isochronous

2.

gcollegeduniaa
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Stability
3.

Huntmeg.

Question Number : 151 Question Id : 61097514579 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. =l ey ! o ¥ . . £
A perfect gas at 27°C 15 heated at constant pressure till 1rs volume 15 doubled. then the fmal temperature of the gas 1

Options :

Question Number : 152 Question Id : 61097514580 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which one of the tollowing 15 the extensive property of a thermodynamic svstem?

Options :

Volume

Pressure

gcollegeduniaa
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Tn31111:+erﬁturr:

3

Density

Question Number : 153 Question Id : 61097514581 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a closed system. dufrerence between the heat added to the system and work done by the gas. 1 equal to the change m:

Options :

1 Enthalpy
Entropy

Internal energy
3

4 Temperature

Question Number : 154 Question Id : 61097514582 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

During a cvele of themo dynamic processes. the hear transfers ave che followimg: +120K1, 18kT 48 K1, and + 12 KT, The aer work done for the exele s

Options:

1 60 kN-m
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o8 ke
2.
2 120 kIN-m

i 44 kN-m

Question Number : 155 Question Id : 61097514583 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Otto eyele eftretency s hagher than diesel eyele ethierency for the same compression ratio and heat mput. beeanse m Otto el
Options :

Combustion 1s at constant volume

1.

Expansion and compression are Isentropic

7

3 Maximum Temperature 1s higher

Heat rejection 15 low

4.

Question Number : 156 Question Id : 61097514584 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
With reference to the IC Engines. the ratio of the break power to the indicated power 15 called:

Options :

: Overall efficiency
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Mechanical efficiency
2.

Volumetric efficiency

3

-

Thermal etficiency
4.

Question Number : 157 Question Id : 61097514585 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In & Trema! combustion engine, the process of remeving the burat gasses from the combustion chamber of the engine evhader s knovwa

Options :

1 Scavenging
Super charging
2‘ 1 it

Detonation
3.

Polyvmerization
4,

Question Number : 158 Question Id : 61097514586 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The capacity of a compressor 18 expressed i

Options :

.
ke m-

1.
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11°  mIn

2.

m” kg
3.

kg m’
4.

Question Number : 159 Question Id : 61097514587 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Clearance ratio as reterred to the reciprocating amw compressors 16 given by

Options :

Total volume of the cvlinder Clearance volume

1.

Swept volume of the evlinder Clearance volume
7

Clearance volume - Swept volume of the cylinder
3,

4 Clearance volume Tortal volume of the cvlmder

Question Number : 160 Question Id ;: 61097514588 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A

Which of the followung thermodvaanic yele lias the hughest thermal ettresency for the srven masimu and s eyele remperatges;
Options :
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Bravton cyele

1.

Otto ¢cvele

2.

3 Diesel cyele

Sturline evele
4. 2

Question Number : 161 Question Id : 61097514589 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Mechanical ethierency of a gas tubme as compared to mternal combustion rectprocating enging 1s :
Options :
Lower

1.

Higher

2

Sanie

Unprechietable
4.

Question Number : 162 Question Id : 61097514590 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Neglecting the mass of the fuel. the propulsion efficiency of a Jet plane 1s given by:

( Va = Veloctry of approach of amr and Vy = Velocity of jet relative to Jet plane)
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Options :

(2Va) (Va+\)y)

1.

(2 ¥y} (Va+~N¥7)
2.

(2 Va) (V) -Va)
3.

(2V7) (V)] -Va)
4.

Question Number : 163 Question Id : 61097514591 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

QOrientation : Vertical
The dimensions of Surtace Tension 15!
Options :

1 N

.
R

W m

Question Number : 164 Question Id : 61097514592 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

gcollegeduniaa
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e velocuty Il changes 1o V2 aflow through pape. vehien the pupe dhameter o suddenl changes 1 d2  d2 2 d1). then the loss of head is ziven by:

Options :

(V1—V2)i2g)

1 I{?j:l — IJ?_‘):;J-'T:ETJ
2.

5 2VI-V2)g

\

(V1-V2}/(2¢g)
4.

Question Number : 165 Question Id : 61097514593 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The etterency of warer et having a veloorty of v and strikmg a seres of vertical plates moving with a veloenv v, s awven by:

Options :

_ 2 v (v—u)
B S ——

=

W=

. i T
(r—ule?

2u{v—u)
) B
3 o

3

I

r -
(—u)u=
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Question Number : 166 Question Id : 61097514594 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Double hemispherical buckets are used in:

Options :

Kaplan Turbue

Francis Turbme
2

Propeller Turbine
8

Pelton wheel

Question Number : 167 Question Id : 61097514595 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Francis murbine is ¢

Options :

An axial tlow mmpulse turbine

A radial tlow impulse turbine
A vl.l .\I‘T‘i' “-':""‘I- .E 11
An axial tlow reaction turbine

A rachal tlow reaction murbine
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Question Number : 168 Question Id : 61097514596 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The relation between Hydranbe Efticseney {;, k Mechaweal Eftictency (7., 1 and Overall Eftictency (3, | of 2 hydraviie turbing 15;

Options :

”}c .}' = 1y J X ':.”m ]

1.
(N ‘ = ':..}Ih 'l:f}m :1
2.
3. o :r-:.”m Pl
Mo Y=Mu )+ (N )
2 o8

Question Number : 169 Question Id : 61097514597 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Alr vessel i a reciprocaung pump 15 used
Options :
To obtain continuous supply of water at uniform rate

1.

To mcrease delivery

2.

To reduce suction head

3
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To remove any entrapped air from water.

Question Number : 170 Question Id : 61097514598 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Centritugal pumps operating in series will result in:
Options :

: Higher discharge

Higher head

Low speed operation

3

j Reduction m power consmnption,

Question Number : 171 Question Id ;: 61097514599 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In Centrifuzal pumps. maximum efficiency 1s obtained. when the blades are:

Options :

: Straight

Radial
2.

Bent torwvard
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Bent backward
iy

Question Number : 172 Question Id : 61097514600 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Drvness fraction ot a steam 1s defined as:

Options :

Mass of dry steamn Mass ot water vapour 1 suspension
1.

5 Mass of water vapour m suspension  Mass of dry steam

Mass of dry steam - (Mass of dry steam + Mass of water vapour m suspension)

3.

Mass of water vapour m suspension (Mass of dry steam = Mass of water  vapour in suspension)
4,

Question Number : 173 Question Id : 61097514601 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A valve mstalled between the boiler and teed pump 15 called:

Options :
; Blow off cock

Feed checlk valve
2.
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Steam stop valve

3.

Safety valve
4.

Question Number : 174 Question Id : 61097514602 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cochran boiler mav be classified as:

Options :

Heorizontal tire tube boiler

5 Vertical fire tube boiler
3 Horizontal wwater tube boiler

Vertical water tube boiler

Question Number : 175 Question Id ;: 61097514603 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For 3 steam nozzle. it p,1s talet pressune and P, & exit pressure and ‘0’ 15 e ndex of sentropic expansion. then the mass flow rave per nar: area 5
DAL 1

Options :

Pa ( 2 ):J‘ﬁl:
{-.
iy n+1
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2.
n
ek ( 2 )i'n—l:-
Dy n+1
3.
n
2 ( 1 );11—1:-
D n+1
4,

Question Number : 176 Question Id ;: 61097514604 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The isentropic expansion of steam through nozzle tor the steam tmitsally superheated at the mlet 15 approxmmated by an equation:

(where p 15 the pressure of the steam and v 15 the volume of | kg of steam af the pressure p |

Options :
P l.f‘l'E — B
1.
5 B e = g
JU lerleﬁ —_
3
P 1.0 — ¢
4,

Question Number : 177 Question Id ;: 61097514605 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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De-lavel turbine s classified as:

Options :

Sunple single wheel mipulce turbine
1K )

Simple single wheel reaction turbine

7

Velocity compounded unpulse turbie

Pressure compounded unpulse turbine

Question Number : 178 Question Id : 61097514606 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For multistage steam turbine. the value of reheat tactor 1 m the range of:

Options :

1 1.2 1o 1.6
0.5 10 0.0

2.

3 0.9 to 0.96
1.02 ta 1.06

4.

Question Number : 179 Question Id : 61097514607 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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e

Stage etficiency of steam turbine 1s:

[}

[

Options :

}?szzlr? X Ubfade

finozzie

2 Nhiade

Mbiade

= Hnozzie

Hnezzie

[ s i
Viblade + 0y pzzip)

Question Number : 180 Question Id : 61097514608 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In expansion process of a Refrigeratton system -+ the following property remains constant,

Options :

: Entropy

Enthalpy
2.

Internal energy

External energy
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Question Number : 181 Question Id : 61097514609 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The COP o1 a Retnigerator 15 4.0, The COP of the same machme when used 3¢ hear pump will be:

Options :

Question Number : 182 Question Id : 61097514610 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During a refrigeration cvcle. heat 1s rejected by the refrigerant i a:

Options :

1 Evaporator

) Expansion valve

Compressor

3.

Condenser
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Question Number : 183 Question Id : 61097514611 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A Camnot ¢cvele refrigerator operates between 250 K and 300 K. then its Coeffictent of Performance 1s:

Options :

0.8

6.0

Question Number : 184 Question Id : 61097514612 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In work study. the symbol *7 O 7 represents:

Options:

Operation

Inspection
2
Transport
3
4,
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Storage

Question Number : 185 Question Id ;: 61097514613 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In X and R — Charts. = R " represents:

Options :

1 Rejections

;5 Repeatability

Randomness

Range

Question Number : 186 Question Id : 61097514614 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In which ot the following case, 100% mspection 15 needed:

Options :

, Bolts and nuts

(Gauges

%

Pressure vessels

3
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le rim

)

L'q_"

L]

Question Number : 187 Question Id : 61097514615 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At the break even point:

Options :

Fixed cost1s equal to the vanable cost

1.

5 Total cost 15 equal to the sales revenue

Sales revenue 1s equal to the fixed cost

3.

4 Sales revenue 1s equal to the vanable cost

Question Number : 188 Question Id : 61097514616 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The sum of direct material cost. direct labour cost and direct expenses 15 called:
Options :

1 Selling cost

Factory cost

2.
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Office cost

Prime cost

4.

Question Number : 189 Question Id : 61097514617 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Military organization 1s known as:

Options :

1 Functional stucture organization

Line and staff structure organization

2.

Line structure organzanon

3.

4. Hybrid structure organization

Question Number : 190 Question Id : 61097514618 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Usage of material handling 15 lugher m case ot

Options :
1. Process layout
Product lavout

gcollegeduniaa

]



Group lavout

Fixed Position lavout
4,

Question Number : 191 Question Id : 610975146192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Critical Path Method (CPM) 18 the :

Options :

Tinie ortented technique
Work orented technique
Event orented technique

Actrvity oriented techmque
4.

Question Number : 192 Question Id : 61097514620 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In PERT. the distribution of activity times 15 assumed 1o be m:
Options :

Normal distribution
1.
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Gamma distribution
2

Beta distribution

3

Exponennal distribution
4.

Question Number : 193 Question Id : 61097514621 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Economic Order Quantity (EQQ) 1s the quantity at which the cost of carrving 15:

Options :

Equal 1o the cost of ordering

Cost of over-stocking,

2.

5 Less than the cost of ordering

Ninimum
4.,

Question Number : 194 Question Id : 61097514622 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The purpose of transmission i an automobile 15 to vary the:

Options :

1. Speed of automobile
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Torque at the road wheels

Power of the automabile

3.

Fuel consumption

Question Number : 195 Question Id : 61097514623 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an automobile the cluteh 15 located between the transimission and the:

Options :

Engine

1.

Propeller shatt
2

Ditferential

Rear axle

Question Number : 196 Question Id : 61097514624 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The central gear of an epi-cyclic gear set 15 called a:
Options :
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Internal gear

1.

5 Planet gear

Question Number : 197 Question Id : 61097514625 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle between the kmg pin center line or steering axis and the vertical. m the plane of the wheel is called:

Options :

Camber

Castor

Combimed angle

Included angle

4,

Question Number : 198 Question Id ;: 61097514626 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The longitudmal distance between the center lines of the front and the rear axle 15 called:

-

]
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Options :

1 Wheel track

Wheel width
Wheelbase

Wheel rake
4,

Question Number : 199 Question Id ;: 61097514627 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 15 a steering Mechanism:
Options :

Watt's Mechanism
1.

Robert’s Mechanism
2.

Hart's Mechanism
3.

Ackermann mechanism

4.

Question Number : 200 Question Id : 61097514628 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

o

The operation of removing trapped air from the hydraulic braking system 15 known as:

Options :

Trappmg

Tapping
5 PPus

Cleanmg

3

Bleeding
4.
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